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Review-Writing Part-Term 1 Al Shahama C2/C3 School

Subject: science/ Teacher-Ms. Sari Shyju Date:

Name: Class : 7/

Exercise 1: Label the missing parts of this figure and answer the questions.

Cross Section of Leaf

Upper epidermal cells

Cuticke Palisade

mesophyll cels

—ty

Chlorgplzgf | ———

| Inper membeana

2. Match the to the layers of the leaf:

mall openings on the bottom layer of the leaf

ayer of packed cells which contains chloroplasts
reen pigment in the cells

Palisade meso op and bottom layers of the leaf

Spongy mesophyll cells ells which transport water to the leaf

lace where photosynthesis occurs (takes place)
axy covering on the layers of the leaf

ells of leaf with spaces between them




Exercise 2: Label each missing part of the Photosynthesis process and then compiete the
equations below.

Light
energy

[ Carbon dioxide

=

Photosynthesis
[ carbon dioxide + water ] = ( suger + oxygen
Light energy
( 6CO, + 6H,0 ] wew [ CHLO, + 60,

Which of the following chemical equation correctly completes the below reaction

that occurs in the mitochondria as shown in the figure?

Glycolysis Oxygen ATP water carbon dioxide




.(. . ;

Chloroplast

Mitochondrion

Phoiosynthesis Cellular respiration

A- COz and H20

CgHy20g and O3

4. Explain the transfer of energy and cycling of matter by modelling the chemical reactions of
photosynthesis and cellular respiration below. Use arrows to show movement in your model.

solar energy

>

Photosynthesis

6CO, + 6H,0 A C¢H;,O; *+ 60,
N\

carbon water
dioxide

Cellular respiration glucose gxygen

-

chemical energy
(ATP) + heat




4.explain all of it's features and relate it to number of organisms in the trophic
levels.

Demonstrate how energy flows through an ecosystem using energy pyramid,

7
4 . IO Energy pyramid, show the

.w amount of energy available in
e each step of a food chain.

Only about 10 percent of the
energy available at one trophic
level transfers on to the next
trophic level

THE EMERGY
PYRRMID 5

eSu
&
J
10 percent of energy available

&
R
® Trophic level 2
N
N

«
\3}\% & ?
Trophic level 3

tertiary consumers
(hawk)
1 percent of energy availab

Trophic level 3
Secondary consumers (snake)

Primary consumers (mouse)
100 percent of energy available

Trophic level 1
Producer ( plant)

1000 percent of energy available

Y|
P!

AT
TN




Only about.......... 10..... of energy available at one trophic level transfers on to the next
trophic level.
a. Which living thing do we find the most in our ecosystems, plants, or hawks? Explain.

Plants, because plants are the trophic level 1 and hawk is the higher trophic
level. Only 10% of the energy transfers from one trophic level to another.

b. Which living thing do we find the least in our ecosystems, rabbits, or lions? Explain.

i | bbi | hic level 1 and lion is the hiol hic level
Only 10% of the energy transfers from one trophic level to another.

Energy pyramid =

The steps of an energy pyramid are called- Trophic level
Bottom of the pyramid ~ producer
Level above the bottom — Consumers ( herbivores )

Higher levels - Consumers that eat other consumers

Write one food chain-

Grass --- grasshopper ---- mouse ----- snake ---- hawk




5. Describe and identify the steps in the water cycle and outline the importance of each steps
and its effects to the environment Textbook, figure page 52

Condensation

Evaporation

Precipitation is YYater that fall from clouds to Earth’s surface. for example, rain,

snow, sleet or hail.
Transpiration  IThe.Rregcess.during which.eccurs. when. plants.release moisture.

[condensation ]

preci pitaAtion ]

A A -
A 4 Z B revaporation J

Trar[spiration and exhalati}nn B

)
4
\




Fill the blank spaces given below

into the environment

of the oxygen in the Earth’s

+ Photosynthesis release QOxygen
0
* Phytoplankton release more than 20.%
atmosphere
« Plants and animals use the Oxygen

in the air

Oxygen

gas into the air.

suring.  PhOtosynthesis
" n

Animals and other
organlsms roloaso carbon

Observe the carbon cycle and answer the questions

given on the right.

Carbon compounds
in atmosphere

Plants, certain protists,
and bacteria on land

Y
Photosynthesis \
-

Cellular
respiration

Decomposition \

Carbon compounds
in soil

Plants, certain protists, % Decomposition
and bacteria in water
e i

o
.
CO, in water

Decomposition

\

Fossil fuels

All organisms contain Carbon
Humans - get carbon from foad

Plants - get carbon from -AlMQsRhere
And water

How does carbon enter

the atmosphere
* Organisms die and decompose — carh
goes into soil

* Fossil fuels formed when
organisms decomposed —
coal, oil, gas

How is carbon used

Plants - photosynthesis makes sugar

Organisms eat---F+<2252---—- and take

in carbon

0




Animals
eat plants

Nitrogen-fixing bacteria on
plant roots convert unusable
nitrogen in soil to usable
nitrogen compounds,

Decaying organic Plants take in
matter and animal and use nitrogen
waste return nitrogen compounds
compounds to the soil. from the soil.

+ Nitrogen fixation -
process that changes atmospheric nitrogen into nitrogen compounds that
are usable by living organisms

6. Define the following terms

Population Is all the organisms of the same species that live in the same area
tat the same time.

Species Is a group of organisms that have similar traits and are able to
produce fertile offspring.

Community Is all the populations of different species that live together in the
same area at the same time.




7. Complete the box with definition.

Relationship Description

P I’Eij d t':l' I'-[] I’E"}“' A predator eats prey for energy .

The predator benefits from receiving food.

Cooperative

Members of the same species work together in
order to benefit the entire group

EﬂmpEtltlvE Organisms that share the same habitat often
compete for resources.

symbiotic

Mutualism : both organisms benefit.

d, M utua | i SM Parasitism : benefits one species and harms other.

Commensalism : benefits one species but does not

b. Pa raS|t|5m harm or benefit other.

c. Commensalism




Commensalism

One organism benefit, the other --------------vemvmeen
--Doesn’t get harmed

ex. 1.the plant benefit - use the tree as its habitat,
the tree is not harmed

Ex.2-the shatk protecting the suckerfish

-The suckerfish benefits from the shark's prot

-The shark is neither helped nor harmed.

Parasitism

One organism benefit, the other -G&t.harmed. ...

Ex.1-The wasp benefits , the spider gets harmed

2.a_tick on_a_human

from feeding on human blood.

Mutualism

Both organisms -- benefit .

ex.1-The clownfish receives protection from the
anemone, the anemone will sting predators of the
clownfish

_—— e ———— —— e = = = = = == — . — . S

Cooperative relationships Individuals | Predator-Prey

of the same species work A predator hunts and kills a prey

together for the good of the group organism

Competitive relationships
Two or more organisms fight for the
same resource at the same time




8. Answer the questions below.

1. Define “Ecological Succession”.

Is the process of one ecological community gradually changing into another .

2-Climax community-

2. Label each succession and put the steps in order. Explain your choice.

a.---Primary_succession_. it [is_the_process_of creating life in an area where no life
existed earlier.

4 1 3 2

Secondary succession : It is the process of re-stabilization ( creating life again)

pthat follows a disturbance ( example: fire) in an area, where life has formed an

ecosystem.

Eutrophication-

The process of a body of water
becoming nutrient rich through
« Decaying organisms

« Runoff from fertitizers




Primary
*No Soil

Secondary

+Soil is present

* progress

*No previous to mature/

*Preexisting land

land climax

stage *Forms after
*Formed from . types of human impact or
volcanoes, sand succession natural disasters

dunes, glacier + have biotic (fires, floods,
recession and abiotic tsunamis,
factors

Elowerdian hurricanes)

secondary

*Faster than
primary

*No need for
pioneer plants

* pioneer plants
are first to grow




